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HEEHER: £ 6 £ 4 AKRHSY
HAHE (FA) XEEEFEE(
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(5 BIZ4+) (Imizft)
1,043.9000 M (F73A) 548.0310 F (FziA)
A om ~80mET
949.0000 F (Fi1k) 498.2100 M (Fitk)
1,452.0000 M (F73A) 497.0130 F (FzA)
B 81m ~300m E£T
1,320.0000 F (Fi1k) 451.8300 M (Fitk)
2,934.6900 F (F3A) 4475900 M (FiiA)
C 301 m ~
2,667.9000 M (Fi1k) 406.9000 M (Fitk)
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BindE = HER B OEANE + (CHEAEM)x B REHEHM) GARBNET
= 1320m + (150 m x 45183 M)
= 8097 M
HEREF = BidE x HERE CARBLIET
GEEES
= 8,097 H x 10 %
= 809 H
AARE = RILHE + HERFHEIE GAXRBUEO

= 8097 M + 809 H

= 8,906 M| — Z k%8




